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Abstract
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Conjugation patterns of the verbs
of locomotion and conveyance

Table 1. Indeterminate imperfective

to ride to go on to carry to carry to lead, to
foot, to walk by vehicle conduct
Infinitive e3OuTh XOOUTH HOCHUTE BO3UThH BOIOUTH
A e3xy XOXKY HOIITY BOXKY BOXKY
TeI e3guib XOOUILL HOCHIIID BO3UIIL BOOUINE
OH e3[OuT xXOOuT HOCUT BO3UT BOOUT
Present - - - - -
MBI e3IUM XOOUM HOCUM BO3UM BOOUM
BBHI €30UTE x6nuTe HOCHUTe BO3UTE BOOHUTE
OHU e3TiT XOOAT HOCAT BO3AT BOOAT
M. e3nui XOIOHII HOCHIJI BO3HUII BOOHII
> F. e3nuia Xom#ia HOCHJIa BO3UIIa BOOHIIA
ast . e3muio XOIOHIIO HOCHIIO BO3HJIO BOLHJIO
PL. e3quiu XOOUIIU HOCHIIHU BO3UJIH BOIUIHN
Imperative e3mm, -Te XOOH, -Teé |HOCH, -T€ |BO3H, -T€ |BOOH, -Te
Table 2. Determinate imperfective
to ride to go on to carry to carry to lead, to
foot, to walk by vehicle conduct
Infinitive exaTh UOTH HeCTH Be3TH BECTH
A efny Uy Hecy BE3Y BENY
THI efielllb  |MOENIL HeCEMIb BE3EIIIb BEEIb
OH efieT UOeT HEeCEer BE3ET BemeéT
Present Vi . . . .
MEHI efieM UOeM HecéMm BE3EéM BeOéM
BHI efieTe UOeTe HeceTe Be3éTe BeIETe
OHU efiyT |UAOYT HEeCyT BE3YT BEOYT
M. éxasn IIEJT HEC BE3 BEI
> F. exXasna IIIa HecJa Be3ya Bema
ast N. exa’o I11JIO Heco Be3110 Beno
PL exXanu IIIJTH HeCIx BE3JI1 BeJIx
Imperative (mote) U, -Te HecCH, -Te  |Be3H, -Te  |BeOu




Introduction

As you already know, Russian verbs exist in pairs -- imperfective and perfective. In Russian it is
necessary to have at your command both verbs, the imperfective and the perfective, to express all
the possibilities of a verbal idea. The imperfective and the perfective verbs are basically identical in
meaning, but differ in aspect. To express the verbal idea of "writing" in English we need only one
verb "to write". The Russian language has two verbs, the imperfective mucaTthb and the perfective
HamnucaThb. Both mean "to write".

Perfective verbs generally express the notion of completion. For example, the perfective verb
Hanucarh "to write" is used in the past tense below expressing the notion of a completed action.

4 Hanucan 3Ty KHUTY. I wrote this book.

Imperfective verbs describe an action without reference to its completion. imperfective verbs are used
when expressing a progressive action, repetition, or simply naming the action. Considering only the
past tense of the imperfective verb IrcaTh "to write", you might find the following:

4 ucan BeCh O€EHb. I was writing all day. (progressive)
I wrote every day. (repetition)
S mucan KaXXObIil TeHb. I would write every day.
I used to write every day.
4 xopol1io nucan no-pyccku. I wrote Russian well. (naming the action)

This opposition between imperfective and perfective verbs is superficially adequate for most verbs
in most contexts.

4 nucan

progressive
repetition s Hamuca completion

naming the action

Before we start with the "verbs of motion" translate this sentence into English.
RUSSIAN: { Hamnucas 3To IIUCHEMO.

ENGLISH:

Answer:

ENGLISH: I wrote this letter. (a completed action)

That was simple. The perfective verb tells you it is a completed action.
O.K.: translate this one.

RUSSIAN: { nucan Mmame.

ENGLISH:

Answer:

ENGLISH:

» [ was writing Mother (when you called),
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* [ wrote Mother (every day).
* [ would write to Mother (every morning before school).

The three translations above point out the problem with imperfective verbs -- they can be interpreted
in several ways. All you know when you see an imperfective verb is that the emphasis is not on a
completed action.

This is an important point to know about Russian verbs: perfective verbs carry an intrinsic meaning
of completion, while imperfective verbs have no intrinsic meaning. The problem with imperfective
verbs is one of interpretation.

Where do you suppose you would look for hints on interpreting the meaning of an imperfective
verb?

Answer: Look at the rest of the sentence or paragraph.

Looking at the rest of the sentence for clues is the normal approach. Since imperfective verbs may
have several meanings (interpretations), it is necessary to know the sentence context as well as the
possible meanings of the imperfective verb. From now on we shall deal with imperfective verbs only.

What are the three basic meanings of the imperfective verbs?

1.

2.

3.

Answer:

1. progressive action
2. repeated action

3. naming the action

Now, in the sentences below choose the best meaning for the imperfective verbs according to the
context of the sentences; progressive, repeated, or naming.

1. 4 nucan oty Tpu pasa. I wrote to father three times.
2. 4 yuTan BcE yTpO. I read (was reading) all morning.

3. 4 roopun no-pyccku. I spoke (used to speak) Russian.
Answer:

1. repeated action

2. progressive action

3. naming the action

The last answer, "naming the action" occasionally gives the student some trouble. This meaning, of
imperfective verbs is used to simply state the verb without reference to any quality of action or time.

Below are listed some English sentences that name the verb.
1. Ilike to play.

2. My dog limps.
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3. Most people sneeze.
4. He reads Russian.
5. Weeatto live.

None of these verbs truly tie themselves to the notions of progression or repetition.




Verbs of motion

In Russian certain verbs have two imperfective forms. These verbs are called the "verbs of motion",
because they state the basic types of motion — going on foot, going by vehicle, flying, swimming,
crawling, etc.

There are only thirteen of these verbs, but they play a large role in both the spoken and written language.
For our purposes, only the verbs of going, carrying, and leading are used. If you are curious, all of the
verbs of motion are listed in the Appendix page 29 in the back.

The two imperfective forms of these verbs present alternate views of going, carrying, swimming, etc. In
general, a Russian needs only two verbs to express all possibilities of a verbal idea — the imperfective
and the perfective.

verbal idea "writing"

imperfective perfective

IINCaThb HaIIuCaTb

To express a verbal idea in all possible ways for a verb of motion you need three verbs — the perfective
verb and two imperfective verbs called the indeterminate and the determinate.

verbal idea "'going on foot"

imperfective

indeterminate determinate

XOOUTH UOTH

Now look at the card that comes with this booklet. This card is titted CONJUGATION PATTERNS OF
THE VERBS OF LOCOMOTION AND CONVEYANCE. (page v)

These are the five verbs used throughout this text for examples, practice exercises, and tests. You may
use this card anytime you wish as a reference, "cheat sheet", or bookmark. Of course, if you going to
learn Russian you will eventually have to memorize them, but in this text it is not obligatory.

There are in Russian two verb-pairs with the general meaning of "to go", "to come", or "to travel", The
verbs XOOUTB-UOTU mean "to go on foot", and the verbs e30UTL-eXaThk mean "to go by vehicle
or some means of conveyance".

In English we use the verb "to go" much more generally than the Russians. The English sentence "I
am going to town" has two counterparts in Russian.

* 4 ungy B ropop. I am going to town (on foot).
* 4 eny B ropog. I am going to town (by vehicle).

A similar distinction is made for HOCUTB-HECTH "to carry on foot" and BO3UTb-BE3TH , "to carry
by vehicle, to transport".

On Foot By Vehicle
to go XOOUTH -- UOTHU €30UTh -- exaThb
to carry HOCUTS -- HECTU BO3UTE -- BE3THU

This is a simple exercise to help you start to discriminate between "going on foot" and "going by
vehicle". Place a check beside the correct response.




Verbs of motion

On Foot

By Vehicle

going across the room

N | =

going to Florida

carrying my friend to the movies

going into the kitchen

carrying the book upstairs

carrying the refrigerator back to town

going to the country

NEREBEERREE

carrying the newspaper next door

carrying the family home

going through the library

Answer:

On Foot By Vehicle

X -

N | =

X
- X

|

SEEREERREE

X -

Now with the aid of your card translate the two sentences into English.
1. 4 Hecy KHUTY B KJacc.

2. 41 Be3y meHBI'u (money) B OaHK.

Answer:

1. I am carrying the book to class (on foot).

2. I am carrying the money to the bank (by car).

The verbs of motion have two imperfective forms. They are called the

and the




The determinate

Answer: indeterminate and determinate (either order)

First let's take up the determinate imperfective. The most common determinate verb is UATH "to go
on foot". As you can see on the card, ©uOTH, along with all imperfective verbs, has a present tense,
a past tense, an imperative, and an infinitive. You can also form a future tense with the present tense
forms of the verb OBITB "to be" plus the infinitive form.

One note of caution. If you are going to rely on that card, you will probably be making a mistake.
There are about twenty prefixes that can be added to these verbs to form new verbs — approximately
100 verbs, and all are in common use! It wouldn't hurt to write them out for practice right now.

Now that you know the forms of the imperfective determinate verb UaTH let us see how to use it.
Since a determinate verb is a subcategory of an imperfective verb, we shall start with our definition
of an imperfective verb.

What are the three meanings of an imperfective verb?

1.

2.

Answer:

1. progressive action
2. repeated action

3. naming the action

The determinate verb describes a motion in progress at a given time — a progressive motion. The
determinate roughly correlates with the English progressive tenses.

I am going to the movies.

A motion in progress in the present tense.

He was going home.

A motion in progress in the past tense.

NOT:

I go to school.

A repeated (habitual) action.

They went home every day.

A repeated (habitual) action.

The baby walks now.

Naming the motion (action) without reference to time.

The determinate imperfective verb roughly corresponds to the English progressive forms. Which of
the following sentences in English would be translated into Russian using the verb uaTH

DEFINITION: A determinate verb describes an action in progress at a given (specific) moment in
time.

Mary goes to church. (page 7)
Bobby usually comes to work late. (page 7)

Here comes Harry! (page 7)




The determinate

Your Answer: Here comes Harry!

Correct. "Here comes Harry" is an action in progress at a specific moment in time. In English we do
not always use the progressive form "is coming" to express a progressive action.

Turn to page 7.
Your Answer: Mary goes to church.

That's not it. "Mary goes to church" is a repeated action. Doesn't the English imply that she goes to
church regularly (or at least occasionally)? To express the idea of an action in progress at a specific
moment we would have to change this sentence to:

Mary is going to church (right this moment).
Return to page 6 and select the correct answer.
Your Answer: Bobby usually comes to work late.

Very unlikely. The adverb "usually" implies something that takes place repeatedly. To express the idea
of an action in progress at a specific moment in time we would have to change the sentence to read:

Bobby is coming to work late (today).
Return to page 16 and select the correct answer.

Whenever determinate verbs of motion are discussed, the notion of a definite direction is brought up.
A favorite textbook definition is: "Determinate verbs of motion describe an action in progress at a
given time in a definite direction.

* [ am going to the movies.
* He is coming home.
* Olga is coming into the room.

Although direction is sometimes a handy way of looking at determinate verbs, it can cause some con-
fusion. The phrases "to the movies", "home", and "into the room" really say more about destination
than direction. The point is this: if you can see (visualize in your mind's eye) a motion in progress,
then whoever or whatever is moving at any given moment can only be moving In one direction. This
is self-evident. A better way to look at determinate motion is to visualize a simple progressive motion
along a line. This line is not necessarily straight. Turn to the next page and consider the drawings of
determinate motion.

All of the motions below can be expressed by the determinate verb of motion.

_e.,_,

N4




The determinate

All of the above motions can be expressed by the determinate verb of motion.

Ompra mmia MEMO JOMa. Olga was walking past the house.

Using the definition "motion in progress along a line at a specific moment", are you able to visualize in
your mind's eye Olga's walking along a line (in the past)? It is a concrete image. A simple act of motion
progressing along a line at the moment you visualize it. In this case, I saw in my mind's eye Olga
walking in a fairly straight line on a sidewalk running past a house. In this sentence I don't know her
destination, but I do visualize her moving in some direction. Here are two sentences with a determinate
verb expressing a progressive motion along a line at a specific moment in time.

Which sentence has the more crooked line of motion?
* WBaH upéT Tyma B KMHO. Ivan is going there to the movies.
+ Cobaka ug€T 3uraraMu K momy. The dog zigzagged toward the house.

Answer. Your choice . It all depends on how you visualize it. A determinate verb expresses the action
along a line irrespective of how intricate the line is.

Did you notice the adverb Tyna "there" in the sentence UBaH UAOET Tyda B KMHO? Until now
you have always used TaM in Russian for the concept "there". Russian has two adverbs for the con-
cept of "where", "there", and "here". These adverbs have specific uses in Russian, and they are not
interchangeable.

The adverb rme "where" (you already know this one)refers only to location — where someone or
something is located. The adverb Kyfa "where" is used when motion is involved. Kyza really means
"whereto". In English we now generally use the adverb where, to mean both location and motion-to.
Not too long ago we had the same opposition in English as the Russians have. The adverb whither
was used with motion-to, and where referred only to location. You are familiar with words of Ruth:
"Whither thou goest, I shall go ...." Notice the difference in the following sentences.

I'me Bau? Kyna upgér MiBau?

Where is Ivan? Where is Ivan going?

Go to the next page.

Can you fill In the "blanks below?

roe = |where KyZa = |where (whither)
30echb = |here crofa = ()
Tam = |there TyOoa = ( )

Answer:
* Kyna = where (whither)

* croga = here (hither)




The determinate

* Typga = there (thither)

The adverbs rge, 3mecsh, and TaM are used for location; and Kyma, ctoga, and Tyga are used with
verbs expressing motion.

Choose the correct form.

1. WBaH, (Kyma/rme) TH UOeInb? Ivan, where are you going?

2. QOmsra, (kyna/rme) Th paboTaelns? Olga, where do you work?
3. Bml Toxke mnu (Tyma/TaM)? Were you going there also?

4.  OH xuBET (croma/3mech). He lives here.

5. Owmna Onl1a (croma/3mech) B KOMHATE. She was here in the room.

Answer:

1. Kyma
2. TOe

3. Tyma
4. 3pech
5. 3mechb

Now, will you write a definition of determinate verb?

Answer: Determinate verbs express a simple progressive motion along a line at a given (specific)
moment in time. (It is not necessary to have the same words as mine.)

Does this motion have to visualized as a straight line?
Answer: NO.

Is a stated direction necessary for determinate verbs?
Answer: NO.

Many Russian sentences can be generated without a stated direction. For example:

[Toe3m upgeT GBICTPO. The train is going fast.

Bop ugper! A thief is coming!

Fill in the blanks with the correct adverb ( Kyza, rge, Tyga, TaM, CIOLa, or 34ECh ).

1. _ TBOs MaMma XUBET? Where does your mother live?
2. dugy  .Iam going there.

3. Omnpranoma . Olga was coming here,

4. aBTOMOOuUNB? Where is the car?

5. Tlétp ctosanm __ Peter was standing there.

Answer: 1.




The determinate

1. Tme
2. Tyma
3. croga
4. Tme
5. Tam

This completes the section on determinate verbs of motion using the verb uaTu.

Turn the page when you are ready to start the next section on the indeterminate verbs.

10



The indeterminate verbs of motion

Before we start on the indeterminate verbs of motion, there is one more point of grammar paralleling
the kind of choice we must make between Kyma and rge , Two prepositions B and Ha + locative
express location. This is something you have been doing all along.

When B or Ha governs the locative case: B means "in, at", and Ha means "on, at".

I'me UBau? Where is Ivan?
OH B 6uboTEKE. He's in the library.
OH Ha KOHIIEPTE. He's at the concert.

In sentences with verbs of motion, a question is generally a Kyga-question. A Kyfa-question asks,
"whereto?" The same prepositions B and Ha may be used to answer a KyZa-question. In this case B
means "in, to", and Ha means "on, to". In answering KyZa-questions, B and Ha govern the accusative
case — B or Ha + accusative.

* Kyma upéTt MBaH? Where is Ivan going?

* OH upéT B TeaTp. He is going to the theater.

* OH uméT Ha KOHIIePT. He is going to the concert.
Choose the correct form.

1. Mo Tepesnka (Ha KyXHe/Ha KyxXHIO).

My plate is in the kitchen.

2. 4 wuny (Ha ypokKe/Ha ypoOK).

I am going to class.

3. Jlrogu umrtaioT (B 6ubnoTeke/B 6UOIHUOTEKY).

People read in the library.

4. Oren mén (B ropome/B ropomn).

Father was going to town.

5. 4 Bupen ero (Ha pyTbone/Ha pyTdOIT).

I saw him at the football game.
Answer:
1. Ha ypok
2. B OubnuoTeke
3. BTOpOA

4. Ha ¢dyTb6ore.

11



The indeterminate verbs of motion

There is one other pair of adverbial forms meaning "home" used the same way — moma (location)

and moMoH (destination or direction).

Translate the answers to the following questions into Russian using either moMa or JOMOH.

I'me MBau?

He is at home.

Kyma upét MBan?
He is going home.
Answer.

1. OH gomMma.

2. OH ugeT OOMOMH.

Fill In the blanks below.

Location Motion
rge
30eChb
TaMm
goMa B + locative +
Ha + locative +
Answer:
Location Motion
roe Kyna
30ech croga
Tam Tyna
moMa OOMOU

B + locative

B + accusative

Ha + locative

Ha + accusative

Since indeterminate verbs are Imperfective verbs, what are the three basic actions expressed by

imperfective verbs?

1.

2.

3.

Answer:
1. progressive action
2. repeated action

3. naming the action

If determinate verbs of motion express a progressive (a simple progressive motion along a line at a
given moment), then indeterminate verbs express

and




The indeterminate verbs of motion

Answer: repeated action (motion) and naming the action (motion)

To put repeated motion and naming the action into the same sort of definition as the determinate one,
let us say that an indeterminate verb may describe:

1. motion non-progressively along a line
2. motion with no relation to the line

The repeated or habitual actions when translated into repeated or habitual motions can be thought
of as non-progressive motion along a line. Using the indeterminate verb XOOUTS (the partner of the
determinate verb U TH), turn to the next page and look at the sentences describing non-progressive
motion along a line.

1. Repeated motion: X0XKY B IIIKOJIy TPU pa3a B HeZelto. I go to class three times a week.

SLernal,
> — e = =D e = — >
Z e e \; .
- > — = =~ 3 — e

2. Repeated motion: I xogumn 1o KoMHaTe. | was walking around the room.

3. Habitual motion: Mo#t 6paT XOOHUT B TOPOI. My brother goes to town.

Now at the sentence below. Select the best answer.
3uHa B IIKOIY.

* a: UMOET page 14

* b: XOmuUT page 14

* c: either UOET or XOOMUT page 14

13



The indeterminate verbs of motion

Your Answer: (b) 3Ha XOOUT B IIIKOJIY. Zina goes to school.

"Zina goes to school" is a non-progressive motion considered as a repeated action or habitual action. It
certainly can be interpreted in this way. But can't you also say 3uHa UIOET B KOy "Zina is going
to school" (a progressive motion along a line at a given moment in time)? This also correct.

The problem is there is not enough information in the rest of the sentence to give you only one possible
interpretation. The sentence can be visualized in more than one way.

Most often a sentence with an indeterminate verb of motion will have adverbial clues for repeated or
habitual actions.

Can you think of any adverbs or adverbial phrases that will help you visualize the motion as
being repeated or habitual?

Turn to page 14 and you will see some that I thought of.
Your Answer:

* 3uHa UOET B IIKOJY. Zina is going to school.

* 3uHa XOOUT B IIKOJY. Zina goes to school.

You are absolutely right. There was not enough Information in the rest of the sentence to be sure of
any one single interpretation. The sentence can be visualized in more than one way.

More often than not a sentence with an indeterminate verb will have adverbial clues for repeated or
habitual motions.

Can you think of any adverbs or adverbial phrases that will help you visualize the motion as
being repeated or habitual?

Turn to page 14 and you will see some that I thought of.
Your Answer: (a) 3Ha UOET B IIKOJY. Zina is going to school.

"Zina is going to school" describes a simple progressive motion along a line at a given moment in
time. This is correct as far as it goes. What about 3Ha XOOUT B IIKOJIY "Zina goes to school" (an
habitual or repeated motion)? This is also possible.

The problem is there is not enough information in the rest of the sentence to give you only one possible
answer. The sentence can be visualized more than one way.

Most often a sentence with an indeterminate verb of motion will have adverbs or adverbial clues for
repeated or habitual actions. Can you think of any adverbs or adverbial phrases that will help you
visualize the motion as being repeated or habitual? Turn to page 14 and you will see some that
I thought of.

Here is my list of adverbial clues or cues that can assist you in choosing the indeterminate from.

Bcerma always
HUKOTZa never

IBa pa3a twice

TPHU pa3a three times
OgTh pas five times
MHOI'0 pa3 many times
KaXX[ObIi JeHb every day

14



The indeterminate verbs of motion

KaXOylo HeOero every week
4acTo often

0OBIYHO usually
OOBIKHOBEHHO generally

OT BPEMEHH [0 BpeMeHHU from time to time

In the three sentences below the forms of the determinate IO TH can not be used.

What are the cues in the sentences that make the forms of the indeterminate X0OgHuTB the only
choice?

1.  OH Bcé BpeMs XOOUII B3ad U BIIEPE[ II0 KOMHATeE.

He continuously walked back and forth about the room.

2. 4 x0xXKy Ha JIEeKIUYU II0 BTOPHUKAM.

I go to lectures on Tuesdays.

3. Omnbra penko xoauna B Kiacc.

Olga rarely came to class.
Answer:
1.  BCcE BpeMs "continuously" and B3ag u Biiepén "back and forth"
2. 1o BTOpHUKAaM "on Tuesdays"
3. penko "rarely"

These clues help you determine that the sentences express a repeated or habitual action. Therefore,
the indeterminate verb is called for. An indeterminate verb expresses a non-progressive motion along
a line — motion back and forth along that line or motion several times along that line. Since a non-
progressive motion can be a back-and-forth motion, the indeterminate verb is sometimes used in the
past tense to describe a completed round trip (having gone somewhere and returned).

I'me THI GBI CETOOHS YTPOM? Where were you this morning?

A xogun B OaHK. I went to the bank (and returned).

This round-trip notion easily falls into the definition of what Indeterminate verbs can do, that
is, indeterminate verbs express

Answer: motion non-progressively along a line. (At this point any definition using the idea of repeated,
habitual, or back-and-forth motion Is correct.)

"Motion non-progressively along a line" is only half of the definition of indeterminate verbs. Can you
fill in the blank below?

An indeterminate verb may describe:
1. motion non-progressively along a line

2.

Answer: motion having no relation to the line (or any words to that effect).

15



The indeterminate verbs of motion

Indeterminate verbs may also express motion without any reference to a line. This is simply naming
the action, a general description of the motion.

JIrogu xomAar. People walk.
Pr1OBI II7TABATOT. Fish swim
IITuner 1eTaroT. Birds fly.

Translate the following sentence into Russian.

e Ilove to walk.

Answer: I JTIOOJIIO XOOUTB. "I love to walk."

Since the motion is simply described with no relation to a line, the indeterminate verb of motion
XOOUTS is required. Let us do one more.

Translate this sentence into Russian.

Our baby can walk.

NOTE: The English modal verb "can" is not translated.
Answer: Harir pe6ésok xoguT. "Our baby can walk."
Write a definition of an indeterminate verb.

An indeterminate verb expresses:

1.

2.

Answer: An indeterminate verb expresses: (1) motion non-progressively along a line, and (2) motion
having no relation to a line.

Now write a definition of a determinate verb.

A determinate verb expresses

Answer: A determinate verb expresses a simple progressive motion along a line at a given moment
in time.

Circle the correct form:

1. Mksl yacTo (XoguM/uUIEM) B TeaTp.

2. 4 BCTpeTHI ero Ha ynulle; oH (Xomui/mén) B 6aHK.

3. Msml (xoguM/ugEM) B TOCTH (as guests ) CEBTOOHSA BEYEPOM.

4. OH Hava IOJIHETH (to gain weight ), TOTOMY YTO OH MaJio (XOOUT/UOET).

5. Ona (xomuT/upéT) B OMOIMOTEKY ITOYTH KaXKObIA OEeHb.

Answer:

1. xogum
2. mén

3. wugém
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The indeterminate verbs of motion

4. xXOoOuUT

5. Xomutr

We have now covered the basic uses of the determinate and indeterminate forms of the imperfective
verbs of motion. In the next sections we shall apply these principles to some other verbs of motion.
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Some other verbs

The indeterminate €30UTH and the determinate €XaThb act the same way as XOOUTE and UOTH.
The big difference is that e30UThb-eXaTh means to go by vehicle in stead of on foot. Use the card
supplied with this program to learn the conjugation patterns of both €3GUTE and exaTs then select
the correct form in each sentence below. Be careful not to have someone walking to California or
riding in the bedroom.

1. Bamum (ug€T/emeT) B MePEBHIO.
2. 4 3aBTpa (upy/eny) B Punagenbgpuro.
3. Cobaka (uméTt/emeT) Ha BepaHAOy.
4. OH (upgé€T/emeT) Ha KyXHIO.

5. Kama (upgét/emet) B JIOHOOH.
Answers:

1. epget

2. eny

3. upéer

4. upér

5. emert

The determinate expresses a progressive motion along a line at a specific moment in time. The deter-
minate eXaThb "going by vehicle" is shown in several examples below.

1.

Kyna enyT BCe oTH nmropu!

Where are all those people going!

Mz=1 egemM 3aBTpa Bo ®nopupny.

We are going to Florida tomorrow.

KTo egeT co MmHOI?

Who is going with me?

The indeterminate verb expresses a non-progressive motion along a line or a motion without reference
to any line.

1.

2.

REPETITION

4 e3xky B Opeccy nBa pa3a B rof.

I go to Odessa twice a year.

HABITUAL ACTION
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Some other verbs

OHa e3OUT TOJIbKO Ha TaKCH.

She only takes taxis.

3. NAMING THE ACTION
OHU 11005 T €30UTh.

They love to ride.

Change the determinate verb in the following sentences to the corresponding indeterminate
form. Add one of the following adverbs to the altered sentence: 4acTO, peKO, BCE BpeMsI,
KaX[ObIH [IeHb, or 0OBIYHO. For example:

1. 4 eny B ropon.

41 e3Ky B ropof KaxKIbIH IeHb.

2. 4 exan B MoCKBYy.

A B MOCKBy

3. Ormbra exana Ha KOHIIEPT.

Onswra Ha KOHIIEPT .

4. MguI egeM OJOMOM.

Mumr ooMOM .

5. BmI egeTe B KUHO?

Ber  BEKMHO 7
Answers:
1. e3Xy any of the adverbials listed
2. e3mmn any of the adverbials listed
3. es3pguia any of the adverbials listed
4. e3mgmM any of the adverbials listed
5. e3pure any of the adverbials listed

Not only do you have to pay attention to the correct choice between determinate and indeterminate,
but also you must note whether the verb in the sentence means on foot or by vehicle. It is necessary
to memorize the following oppositions.

On Foot By Vehicle

indeterminate determinate indeterminate determinate
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Some other verbs

On Foot By Vehicle

XOOUTb UaTHu €30UThb eXxaTb

HOCHUTHb HeCTu BO3UTH BEe3THU

Another pair of indeterminate-determinate verbs of motion that we shall take up is BOGTUTBL-BECTH
"to lead". BoouTBh-BECTHU can mean "to lead on foot" or "to lead by vehicle". With BOGUTB-BECTHU
it makes no difference.

The Indeterminate

1. TIETp BOOMT CBOero Opara B MapK KaXKOHIH IeHb.

Peter leads his brother to the park every day.

2. ¢ Bommi cecTpy B LIKOJIY TOJIBKO OBa Pa3a B HEIEITIO.

I led (took) my sister to school only twice a week.
The Determinate

1. Mawma Bupgesa, Kak 5 BEJI CECTPY TyHAa CETOOHS YTPOM.

Mother saw me leading (taking) my sister there this morning.

2. Bpart meén mo ynuie u BEJT 3a PyKy MaJIeHbKYIO0 CeCTPY B IapK.

The brother was walking along the street leading his little sister by the hand to the park.
Complete the following using the verbs
1. Kymna Bel ugete? 4 (BoxKy/Bedy) DOYKY K HOKTOPY.

2. Kymna BeI efeTe? 4 (BOXKY/Be3y) IOUYKY K HOKTOPY.

Answers:
1. Bemy
2. Be3y

Don't get confused with the idea of. "on foot" or "by vehicle". Remember that it makes no difference
with BoouThb-BeCTH. The choice is the same for both sentences -- the determinate verb, action pro-
gressing along a line.

The verbs HOCUTBb-HECTH "to carry on foot" are similar to XOGUTL-UOTH "to go on foot". However,
the verbs HOCUTB-HECTH take a direct object, that is , they carry something or someone.

* 4 Hecy KkHUTY B OUOIUOTEKY. | am carrying the book to the library.

Replace the verbs X0oguTH or HATH in the following sentences with the correct form of
HOCHUTBH or HECTH plus a direct object. For example:

MamMma ugéT noMoin MamMa HecéT makKeT JOMOH.
5 X02Ky B IIIKONy KaKOBIM [IEHb. qa B IIKOJIY KaXK[ObIN OEHb.
Ornpra mjaa Ha KyXHIO. Onera Ha KyXHIO.
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Some other verbs

4. OHa yacTo xomwiIa Ha KyXHIO. Ona YacTO Ha KyXHIO.
5. 9 npy B 6aHK. qa B 6aHK.
Answers:

1. HecéT maker

2. Homy plus a noun in the accusative case.
3. Heca plus a noun in the accusative case.
4. Hocwuia plus a noun in the accusative case.
5. Hecy plus a noun in the accusative case.

Using your definitions of the determinate and indeterminate, select the proper verb form from
the following sentences.

1. Kynma Be (HOCUTE/HECETE) 9TOT IIaKeT?

2. 4 ("omy/Hecy) ero Ha MOYTY.

3. Korpga s Bupen ero Ha ynuile, 6paT (Hocui/HEc) OObIITYIO KHUTY.
4. OH Bcerpga (HOCUJI/HEC) CBOIO LIJISIITY B PYKeE.

5. OH (HOCHUT/HECET) e€ KHUTH KaxXObI! NeHb.

Answers:

1. Hecéte
2. HecCy

3. Héc

4. Hocun
5. HOCHUT

The verbs BO3UTb-BE3TH "to carry by vehicle" is used exactly like HOCUTb-HECTH.

HOCUTB-HECTHU = to carry ON FOOT, WALKING

BO3UTBL-BE3THU = to carry BY VEHICLE, RIDING

The determinate form expresses motion in progress at a given moment in time, a progressive motion
along a line.

4 Hecy x1e6 moMoii. I am carrying the bread home. (ON FOOT, WALKING)

51 Be3y xmeb moMOi. I am carrying the bread home. (BY VEHICLE, RIDING)

The indeterminate form expresses a motion non-progressively along a line (repeated or habitual mo-
tion), and motion with no reference to a line (a naming of the motion).

+ 4 Bo3wm xy1€0 MOMOIL OBa pa3a.

I carried the bread home twice. REPEATED MOTION
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Some other verbs

* 4 Bo3ui xJj1e0 HOMOU KaKObIf OEHb.

I carried the bread home every day. HABITUAL MOTION

* 4 m1061I0 BO3UTH XJ1e0 JOMOM.

I like to carry the bread home. NAMING THE ACTION

The verbs BO3UTB-BE3TH "to carry by vehicle" also take a direct object. Underline the direct object
in the following sentences and translate the sentences into English.

1. 4 Be3y meHbru B 6aHK.

2. MamMa Bcerfia BO3UT MOIO CECTPYy Ha pyT6oII.

3. Orer BE3 MOIO KPOBaTh Ha faydy. (to the country house).

4. Mou GpaT Be3ET JIomaab Ha BEICTABKY (to the fair).

Answers:

1. pmeHbrH:Iam taking the money to the bank by vehicle (car).

2. MOIO CeCTPpYy: Mother always takes my sister to the football game (by car).
3. MOI0 KpoBaTh: Father was taking (by car) my bed to the country house.
4. momragb: My brother is taking (his) horse to the fair.

Now supply the correct form (the indeterminate or the determinate) of the verbs BO3HTh-
Be3TH "to carry by vehicle".

1. He drove us around the city yesterday in his car.

On HaC BYe€pa I10 ropoay B CBOEM aBTOMOOMUIIE.

2. The bus was taking the children to school.

ABTOGYC IeTel B IIKOTY.

3. Drive carefully with this box; there is glass in it.

9TOT AWK OCTOPO2KHO; TaM CTEeKJIo!

4.  This bus takes children to school every morning.

9ToT aBTOOYC OeTel B IIKOJIy KaXaoe yTpo.

5. In front of us was a truck, which was carrying some kind of machines.

Bnepenu Hac exan rpy30BUK, KOTOPHIHA KaKue-TO MallluHEI.
Answers:
1. BoO3uUn
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Some other verbs

BE3
Be3ure
BO3UT

BE3

When you use the verbs BoOUTE-BeCTu "to lead". It makes no difference whether you are leading
on foot or by vehicle, the same verb is used. The verbs BOGUTE-BECTH also take a direct object, that
is, you lead someone or something.

Circle the correct forms and underline the direct object.

1.

Every day she takes her children to the park.

OHa KaX[Obli JeHb (BOOUT/BENET) CBOUX AETEH B ITapkK.

2. She was going to the park and leading her child there.
OHa 11J1a B apK u (Boguiia/Bejia) Tyoa CBOETro peOEéHKa
3. Lead me; it's so dark in here!
(Bogute/Bengure) MeHS; TyT TaK TEMHO!
4. Iam taking my daughter to the doctor.
4 (BoxKy/Beny) MOIO HOYb K JOKTOPY.
5. The guide was leading us along a narrow mountain path.
I'up (Bogui/BEM) HAC IO Y3KOM TOPHOM TPOIIMHKE.
Answers:
1. BOOUT CBOMX OeTeu
2. Bema...cBoero pebéHkKa
3. Bepure MeHs
4. Bemy MOIO IOYb
5. Bén Hac

Take a break, and then take the final test!
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Test

1. Write a definition of imperfective verbs with three example sentences.

b.

C.

2. Write a definition of the determinate imperfective with one example sentence.

(1

3. Write a definition of the indeterminate imperfective including three example sentences.

b.

C.

4. Select the correct form.
* MeI yacTo (XoguM/uméEM) B TeaTp.
* Kyna BHI (xomuTe/upete)?
* OH Bcerga (HOCHT/HEC) CBOIO IIIISAIY B PYKe.
* Mot oTer mo6un (e3guTh/exaThb) BEPXOM. .(on horseback)
* 9ToT aBTOOYyC (BO3UT/BE3ET) TYPUCTOB I10 TOPOY.
+ 4 Buepa BCTpeTHII (met) AHIOPES, KOTAa OH (XOmuii/iien)B 6ubInoTEKY.

 Kyma BeI emete? S (BoXy/Be3y) meTei B IIKOIY.
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Test

* Ecnu TeI Oymer s (e3guTh/exaTh) OBICTPO, THI HEe OII03HaeIsb (will not be late).
* Ogmpra (xopuna/uina) oueHb OBICTPO U He BUIEJIa MEeHS.

* OH cTa; naoxo BumgeTh; eMy HykHO (he needs)(Hocuts/HecTu) ouku ("carry"
in this sentence means "wear").

* Bepa Buepa (Hocuina/Hecna) KHUTY DOMOIA.

+ Cettyac s moMma. 4 yxke (xomuJi/iién) B 6aHK.

+ Kaxnyio Hemero 6paT (BOOUT/BEET) CTAPOTO YeI0OBEKA B TOPOLI.
* 3aBTpa g (X0XYy/UAy) B KUHO.

* Omnera (Hocusa/Hecsna) ra3eThl B KJIaCC ABa pa3a B HEHEO.
» T'up cetiyac (BoOuT/BEOET) TYPUCTOB B My3€i.

* 4 gacto (BOXy/Be3y) MaMy B JIaBKY.

* DTOT MOJIOOOM YeNI0BEeK II00UT (BOOUTH/BECTH) OEBYIIKY B caf.
* Pomutenu (e3gsit/enyT) ceityac Ha ¢yTOOII.

* Ceropus cecTpa (XOOUT/UOET) MOMOIM.

Circle the correct form.

a. ¢ xuBy (Ha KBapTUpe/Ha KBapTUPY).

b. Cetuac 1 ugy (moMa/moMoit)

c. OH umuTaeT KHUTH (B OubOIHOTEKe/B OUOIUOTEKY).

d. Own exan (Ha KOHIIEpPTe/Ha KOHIIEPT).

e. HBaH mo0uT e30UTH (B IepeBHE/B IEPEBHIO).

f.  (I'me/Kyma) BB paboTaete?

g. Mot orterl men (B cagy/B cam).

h. Omwra cour (sleeps ) (Tam/Tyza).

i. (I'me/Kyma) BHI upgeTte?

j. Cectpa ugner (3mecn/ciona).

Select the correct form.

a. Pasrosop B noe3ge: Kyna Bei(ugéte/enmeTe)?

b. 4 (umy/enmy) B Hukaro.

c. Ombra (Hec€T/Be3€T) CBOIO KHUT'Y B KOMHATY.

d. TIéTp (mecét/Be3éT) cembio (family) B mepeBHIO.

e. 4 (Holry/BoXKy) raseThl B YNTAJIbHIO KaXKIObIH OEHD.
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Test

Orerr (HEc/BE3) mMBAH B TOPO/.
CecTpa (examna/iina) Ha KyXHIO

KTo (upéTt/emeT) B naBKy.

Bpat xoueT (ugTH/exath) B EBpory.

Mawma (Heca/Be3ja) MOJIOKO B CIIAILHIO.
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Answers

1. KEY PHRASES: progressive action, repeated action, habitual action, naming the action, the ac-
tion spoken of in general terms, no emphasis on the completion of the action. (three example
sentences)

2. The determinate expresses a progressive motion along a line at a given (specific) moment in time.

(one example sentence)

3. The indeterminate expresses a non-progressive motion(repeated, habitual, back-and-forth) along
a line,and a motion with no reference to any line (naming the action, speaking of the action in
general terms).(three example sentences).

a. 4. xomum I k. Hecna D
b. upeTe D L. XOOUII I
c. HOCHUJI 1 m. BOIOUT I
d. €30UTh I n. uny D
e. BO3UT I 0. HOCHUIIa I
f. I D p. BeOeT D
g. Be3y D q. BOXY I
h. exaThb D r. BOOUTH I
i mia D s. enyT D
] HOCUTH I t UOeT D

5. Circle the correct form.
a. Ha KBapTupe
b. pomou
c. B OubIMOTEKE
d. Ha KOHIEpPT

e. B IOepeBHE

f. Tme
g. Bcapm
h. Tam
i.  Kyma
j- croma

6. Select the correct form.

a. ejgeTe
b. enmy

C. HECerT
d. Beser
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Answers

HOIITY
BE3
Iia
UOET
exaTh

HeCIlla

28



Appendix

1. UOgTUu XOOUTHb go, walk
2. 6exaThb oerathb run
3. TIOI3THU 1mon3aThb crawl
4. JIe3Th 1a3uTh (J1a3aTh) climb
5. IIJIBITH iaBaTh swim
6. JIeTEeTh jeTaThb fly
7. exaTb e30UuTh go, ride
8. BECTH BOOUTH lead
9. THaTh TOHSITh drive
10. HeCcTu HOCUTH carry
11. BE3THU BO3UTH convey
12. TallluTh TacKaThb drag
13. KaTUTh KaTtaThb roll
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